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Enter a quadratic polynomial which has roots at 13/16

and -8.
- 2)x -t

( )(y\+5) SR = 5 (7%



rroviim 17, (1 pomt) Liprary/CollegeUriaano/setalgepra_Us_UZ_Pro

blemSolvingBusinessApp/32IntAlg_15_Functions_Review.pg
5

: e o= 339 =gl
) pag (D= R (4(H) =

1 /\///—“J%(X)

Jo (g (N) =7

=2

The graph of f is shown in red, and the graph of g is shown in
blue. Use the graphs to evaluate each quantity given below.
NOTE: If only a blue section of graph shows up, that means the
red graph is behind it.

NOTE: Round your values to the closest integer.

or=—2__ "} < 1" = heght o geph 4 {o dee XY
b) g(4) =

c) f(4)+g(4)= ’g—

Ancwerl <) cubmitted-
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